ROSYTH SCHOOL
PRIMARY 1 MATHEMATICS
Problem Sums - Addition & Subtraction Within 100
TERM 4 TOPICAL TEST 1

Marks: 20
Name: ____ ()
Class: P1- Date: 23 Septeniber0i3
Time: b0 minutes Parent’s Signa‘fur‘e:

Read the questions carefully. Answer dll questions.
Show your working clearly.

Write your number sentences in the boxes provided.
Q1 - Q6 carry 2 marks each.

Q7- Q8 carry 4 marks each.

1. Mrslin boughtf’Zl.cupcakes from Cake Shop A.
She bought another 8 cupcakes from Cake Shop B.
How many cupcakes did she buy altogether?

b&&EEEG 6666
SE&EEHEGEGE | v
$6&66S66S)

OL 10O

Mrs Lin bough’r' cupcakes altogether.
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2.

Steve caught 36 spiders and put them ina shoe box.

4 spiders crawled away.

How many spiders had he lef+ in the shoe box?
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He had | -s‘pider's left in the-shoe box.
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3.

Mary has 40 storybooks.

1L give her 38 more storybooks.

How many sweets did Sasa have at first?
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Sasa had sweets at first.

Working
How many storybooks does she have now?
She has storybooks now.
4. Sasa gave 48 sweets to her sister.
She had 15 sweefts left.
Working



5. Alihas 22 more toy guns than David;
If David has 39 toy guns, how many toy guns does Ali Have?
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Ali has toy guns.
6. Bella has 91 stickers.
She gives 25 stickers to her brother. Working

How many stickers does she have now?
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She has stickers now.




7a) There are 32 boys and 50 girls in d choir-.

) Working
How many children are there in the choir?
There are <hildren in the choir.
7b)  How many more girls than boys are there in the choir?
Working

There are
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more girls than boys in the choir.




8a) Alanhas 69 stickers.

Ben has 38 fewer stickers than Al__an.

‘How many stickers does Ben have?

Ben has
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stickers.

8b)  How many stickers do the two boys have altogether?

.

The two boys have

stickers altogether.

--—- End of Paper ----
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EXAM PAPER 2013
SCHOOL : ROSYTH SCHOOL
SUBJECT: PRIMARY 1 MATHEMMATICS

TERM : SA2 (TERM 4 TEST 1)

21 +8=29
36 -4 =32
40 + 38 = 78
48 + 15 = 63
39 + 22 =61
91— 25 =66
(@) 32 + 50 = 82
(b) 50 — 32 = 18
8.(a)69-38=31
(b) 31 + 69 = 100
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Temasek Primary School
Mini Test 2 - 2013
Mathematics

Name: (' )

Class: Pr. 1 ' Date:

Section A : (9 x 2 marks)
Choose the correct answer for each question and write its number in
the brackets provided.

1.  Thelongest line is

T
L

(1) A (2) B
(3) ¢ 4) b ( )

2. B twosis the same as

(1) 5+5+5+«5+5  (2) 5x5
(3) 2+2+2+2+2 (4) 2x2x2x2x2 ( )
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